
Addition de Coeurs Doux (I)
Quelle est la valeur de chaque doux coeur?

18 + * = 110 > + 20 = 61

12 + + = 31 = + 28 = 60

58 + ( = 135 ~ + 51 = 71

67 + % = 109 < + 66 = 95

61 + & = 138 ? + 36 = 76

83 + _ = 122 - + 28 = 121

46 + $ = 86 . + 17 = 102

41 + ) = 113 / + 91 = 148

58 + ^ = 101 , + 30 = 62

87 + # = 114 ` + 62 = 76
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Addition de Coeurs Doux (I) Réponses
Quelle est la valeur de chaque doux coeur?

18 + 92 = 110 41 + 20 = 61

12 + 19 = 31 32 + 28 = 60

58 + 77 = 135 20 + 51 = 71

67 + 42 = 109 29 + 66 = 95

61 + 77 = 138 40 + 36 = 76

83 + 39 = 122 93 + 28 = 121

46 + 40 = 86 85 + 17 = 102

41 + 72 = 113 57 + 91 = 148

58 + 43 = 101 32 + 30 = 62

87 + 27 = 114 14 + 62 = 76
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